
3GPP TSG-RAN WG2#119-e
R2-220xxxx
e-Meeting, 17th - 29th August, 2022

Title:
Reply LS on RAN feedback for low latency
Response to:
R2-2204438/ S2-2201767 LS on RAN feedback for low latency
Release:
Rel-18

Work Item:
FS_5TRS_URLLC
Source:
RAN2
To:
SA2

Cc:
RAN1, RAN3
Contact Person:


Name: Tao Cai

E-mail Address: tao.cai@huawei.com

Send any reply LS to:
3GPP Liaisons Coordinator, mailto:3GPPLiaison@etsi.org
Attachments: NA

1. Overall Description:

RAN2 would like to thank SA2 for sharing problems and asking questions on low latency issues. 
For the questions asked by SA2, RAN2 provides the answers as follows:

1) What are the possible values for the periodicity of the TDD cycle that RAN can support? This question is related to Problem 1.
Answer: 

RAN can support the following TDD cycles: {0.5ms, 0.625ms, 1ms, 1.25ms, 2ms, 2.5ms, 3ms, 4ms, 5ms, 10ms}

;
Regarding Problem 1: 

Due to various reasons, for example, packets arriving to the gNB will experience buffering (i.e. resulting in increased delay) if their time of arrival is not aligned with the transmission opportunities of the TDD subframe, there is a need

 to adjust burst arrival time in TDD scenario.
2) SA2 could not conclude whether a similar issue existing in FDD scenario (i.e. Problem 2) as Problem 1. Please RAN2 confirm whether it exists or not.
Answer: 

There is no need to adjust burst arrival time in FDD scenario as 

there is no UL-DL pattern

 issue.
3) Does RAN see any additional aspects that SA2 should consider for the study?
Answer: 

RAN2 sees no additional aspects that SA2 should consider for the study.
2. Actions:

To: SA2

ACTION: RAN2 respectfully asks SA2 to take the above information into account in the relevant work.

3. Date of Next RAN2 Meetings: 

TSG-RAN WG2 Meeting #119bis-e     


10 – 14 October 2022



Online
TSG-RAN WG2 Meeting #120     


14 – 18 November 2022


Europe
�Based on the achieved P1 in the summary, we are wondering whether the TDD periodicity is supposed to be {0.5ms, 0.625ms, 1ms, 1.25ms, 2ms, 2.5ms, 3m, 4m, 5ms, 10ms}?





Proposal 1: Reply to SA2 Q1 that: 1) RAN supported TDD cycle can be {0.5ms, 0.625ms, 1ms, 1.25ms, 2ms, 2.5ms, 3m, 4m, 5ms, 10ms}, 2) Due to various reasons, for example, packets arriving to the gNB will experience buffering (i.e. resulting in increased delay) if their time of arrival is not aligned with the transmission opportunities of the TDD subframe, there is need to adjust burst arrival time in TDD scenario.


�it was a copy/paste error, we shall use the the set in P1. Changed. 


�This blank space can be removed


�ok


�Could we add “a” before need?


�yes


�We don’t see the need to repeat “in FDD” herein again. 


�ok


�To align with the term in RRC spec, could we use “DL-UL pattern”? No strong view though.


�removed.





